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TRIGONOMETRY- 2

CLASS X (2025-26)

SUJITHKUMAR KP 22-07-25

If sin6@ = cos 0, thenthe value of 8 is . (0° <6 <90°
If cosec®—cot= % the value of (cosec 0 + cot 0) is
A) 1 B) 2 C) 3 D) 0
If tanA = 15—2 find the value of (sinA + cos A) .secA
13 17 12 12
@ b - © = d =

12 12 17 13

L
\/gy
4cot?45° — sec?60° + sin?60° + cos?90° = -

If sec?0 (1 +sin 0) (1 —sin ) =k, then find the value of k is

If tan(4 + B) =3 and tan(4 — B) =

The value of § sec’A —% tan?A =
A) 5 B) 9 o < D) 0

5sin 6—-3 cos6O

If 5tané = 4, evaluate :
5sin6+2 cosb

Find the value of x ,if tan3x = sin45° - cos45° + sin 30°.

In A ABC, right angled at B, AB=5 cm and sin C = % Determine the length of side AC

If sec 6 = % , find the values of tan 6 and cosec 0.

In A ABC, right angle at B, if AB =12 cm and BC =5 c¢m, find
(i) sin A‘and tan A, (ii) sin C and cot C.
Given A = 30°, verify sin 2A = 2 sin A cos A.

cosec?0 — sec?0
cosec?8 + sec?6

If tan O =\/i§, (0° < 6 < 90°) then evaluate

Ifsin (A-B)=2 ,cos (A+B)=- ,find AandB.

Simplified form of (1 + tan?0) (1- sin ) (1 + sin ) is
A 1 B) - C) cot’0 D) tan’0

Find the value of x if cos 2x =sin 60° - cos 30° — cos 60° - sin 30°.
A) 60° B) 36° C) 27° D) 30°

1-sin60°
The value of Y =

c0s60°

If secO-tanf = % the value of (sec 8 + tan 6) is .

If tan A= % , find the value of (sin A + cos A) . sec A.

0°<A+B<90°, A>B.AandB are and
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(1+sin@ ) (1— sinb)
(1+ cosB )(1— cos 0)

If cotd = g evaluate

Ifsin@= = , then find the value of (2 cot? 6 + 2)

W

= cot 0, find the value of 3 (xz - i)

If 3x=cosec 0 and >
X

Rlw

If sinf = xand sec @ =y, then find the value of cot 0.

Find the value of x from the figure. A N
]
BE— 20cm —> C
Find the value of x from the figure. P \
)
%
:
Q&—xi—>R

Evaluate: 3 cot? 60° + sec? 45°

If sin A = ? find the value of 2 cot® A — 1.

If cos (40° + x) = sin 30°, find the value of x.

By taking A = 30°, evaluate 4cos34 — 3cosA

If tanx = sin45°cos45° + sin30° then x =

If A= 60°and B = 30° verify that sin(A + B) = sinA cosB + cosA sinB

If acosB-bsin® = x and asin® + bcos® = y. Provethat a?+b%=x*+y%

Prove that . sinB+ cos6 sinf—cosf 2 sec?6
sinf— cos6 sin8+cos®  tan20 -1
CcosA 1+sinA
Prove that : — + = 2 secA
1+sinA cosA

1 . 1
The value of ~ Sin’A + Y cOS?A =

If tan(4 + B) =3, tan(4 — B) =%, 0<A+B<90,4>B,find Aand B.
If sec? § (1 + sin 0) (1 — sin 0) =k, then find the value of k.

If 6x=secBand > = tan 6, find the value of 9 (xz - iz)
X X

5sin 8-3 cosf
5s5in6+2 cos6

In a triangle ABC, right angled at B, the ratio of AB to AC is 1 : /2. Find the value of

If 3tan® = 4, evaluate

If A = 60°and B = 30°, verify that: sin (A- B) = sin A cos B - cos A sin B.

2tanA
1+tanZA
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If 7sin?6 + 3cos?0 = 4, then show that tanf = =

tanf+4
4cotf+1

If sinf = % find the value of

Prove that: (1 + cotf — cosecO )(1 + tanb + sech) = 2

tanB+secO—1  1+sind
Prove that; ————>¢P72 — 2T

tan—sec6+1  cos@
1 1 1 1
Prove that: - = -
(secx—tanx) cosx cosx  (secx+tanx)

Evaluate : 4 cot® 45° — sec?® 60° + sin® 60° + cos? 90°.
Find the value of x if tan 3x = sin 45° cos 45° + sin 30°.

Taking A = 30° , verify that cos3A = 4cos3A — 3cosA

cotf+cosec6—1 _ 1+cosO

Prove that: cot@—cosecO+1  sind
. sinB+cosO sinf—cosf 2
Prove that: sinf—cosd T Sindtcosd  SinZ0—cosZo

Prove that: sin*6 + cos*0 = 1 — 2sin?6 cos?0 .
Simplify: (1 + tan? 0)(1 — sin 0)(1 + sin 0).
If sec O + tan O = m and sec 0 — tan 0 = n, find the value of vmn .

If sin@ + cos® = pandsec@® + cosecd = q,show that q (p>— 1) = 2p.

sin6 tanf

Prove the following identity: o T Trom SecB.cosec+cotd

Prove the following identity : cos* A — cos? A = sin* A —sin® A
Prove the following identity : sin® A + cos* A =1 -2 sin® A cos® A

cosf _ 1+sinb

Prove that:

1-sin®  cos@

Prove the following identity: If cos 6 - sin@ = 1,show that cos @ + sinf = 1or- 1.

If acos6-bsin® = xandasin® + bcos® = y. Prove that a’ + b* = x* + y2.

IfA = 60°and B = 30° verifythat cos (A- B) = cos Acos B + sin A sin B.

Determine the value of x such that 2 cosec? 30° + x sin® 60° —% tan? 30° = 10

If 6x = secH and S = tanb, find the value of 9 (xz - i)

x2

— cos6

Prove that  (cosec — cot6)? = = o2
1+ cos6

If x = acos® + bsinf, vy = asinf — b cosO , prove that x? + y? = a? + b?

tanA tanA
Prove that: il =2 cosec A.
secA-1 secA+1

If 2 cos®—sin®=xand cos @ —3 sin 0 =y, prove that 2x? + y?- 2xy = 5.
If cosO — sinf =2 sind, prove that 6 + sinf = V2 cos6
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Find sinC , cos C

Find sinW , tanW

Findtan 8 , cos@

W

(3=}

13 _
6
12
Find sec8 , cosecO
0 24
25
3
Find x ¥
45°
60° x
30°
~ 53 & . I 8
© 2v3
Taking A = 30° , verify that i) sin2A = 2sinAcosA ii) cos2A = 2cos?A — 1
iii) sin3A4 = 3sinA — 4sin3A iv) tan2A = 122::4 V) cos3A = 4cos3A — 3cosA

1. If A= 60°and B = 30° verify that
1) sin(A + B) = sinA cosB + cosA sinB
i) cos(A + B) = cosA cosB — sinA sinB

tanA—-tanB

i) tan(A—B) = ———0

(Ans: 1)
(Ans: 0)

L
(Ans.\/§



